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(2) HRDEFHAREXEET,

(3) x=Ja DEBTYREHNHK LI, COMEREELLDHRAICBIZHT A, x &
DIEAEMNEFRED,

(4) HIfE (3) OYED. TDERDEEDRKIEIFENTZITH,

(5) HIfE (3) OMEDEENEOICLHMEXE CH. xEROMEZKRD L,
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(1) UM =alx? —-—a)(x? — 4a) = ax* — 5a’x? + 4a3®

—%zFi V. F=—4ax®+ 10a’x

= —2ax(2x? + 5a)
(2) F=ma=miX V., mi=—-2ax(2x* + 5a)
(3) F(Va)=6a*Va>0
BTN E & T,
(4) BEH= VX —REDENEEZ D,
UDF/MEZEUpin T D L Upyin DNLE TIZF = 0& 725005,

x=0, J_r\/g_ac::;smfummmfﬁmm% 5.

x=0Dt&UKX) =4a®, x=+ gaﬁ)k%U(x) =—%a3

L7z3» T, BIE BRI, BE D Upin 252 TS 2 LB 5,
NEE TR — R TREE TR F =20 D & S ITHENRKEE & 2000,
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—mv? =U(Va) = Upin

2
1 9
Emv2=za3
9a3
= T (~v=20)

(5) UWa) =072 5, BOUX) =0l o 7oLl CHERErIZi b,
a(x> —a)(x* —4a) =0
x=0,+Va,+2va
x =VaXk VIEQHHIZEIN TS0 D, x = 2Va ONLE TRIGEESE 1125,



